wang zhao jan

Co11 £ #BE (wang2 Zhaoljunl)
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Wang2 Zhaoljunl was one of the concubines
yuén di

in the court of Yuan2di4 [75 #5] of the Han4

[;E] Dynasty. In addition to her being one of
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the most beautiful women in Chinese history,
her achievements ranked her as one of the
best diplomats too. She was beloved by the
people in the border tribe that she married

Bwrae

xiong nd

into, Xionglnu2 [ &) #V].

Her marriage to the Chief of Xionglnu2 was
an accident. This Chief, Hulhan2xie2

ha héan xié shan ya

Can2yu?2 [ FEEE TR EZJ:] was one of the two
competing chiefs of that particular tribe. He
came to the Han4 court to make peace with
(Picture obtained through the Internet) China and ask for a wife. The Emperor opened the scrolls of
pictures of the concubines and picked one. However, when she had herself prepared and came to bid
goodbye to the Emperor, alas! the Emperor realized how beautiful she was. The Emperor not only
regretted, he was outraged! The artist who did the painting was summoned and decapitated. That
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mao yan shou

unfortunate artist’s name was Mao2 Yan2shou4 [E ZEZ].

There is even a poem that tells this story. The most famous verses of that poem can be translated as “if
an Emperor cannot even manage what happen in front of his own eyes, how can we expect him to rule
the numerous border tribes thousands of miles away! Yan3gian2 suo3jian4 shang4 ru2ci3, gianlli3

yan gian suo xian shang ru cf gian I hé neng zhl

he2neng2 zhid Yi2di2! BR5T BT 5, 1% filt, T faIaE 34 Jk!

pa
If you see a painting that depicts a woman with a pi2pa2 [,E;E E ] - the Chinese equivalent of a guitar — it

is most likely her. By the way, the camel in the picture has two humps; it — the Bactrian camel -- has
been a popular beast of burden for thousands of years in that area. If you look closely, she carries on her

shoulder something that is wrapped and tied with a bowtie; that “something” must be a pi2pa2.
3k 3k ok ok 3k 3k sk sk sk ok sk ok sk 3k sk sk sk sk ok sk sk sk sk sk sk sk sk ok sk 3k 3k sk sk sk ok ok ok sk sk sk sk sk



